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1. 

824(EJ) 
1. 

Nolt·: 

· · cJ · L two a t, - Part-A an<l Part-B.
Till: qw.;sLilHI puµl:;r 1� J1v1dc; in ° P r s 

Part-A and Part-8 are divided into three Sub-Sections - ( l), (2) andi) 

ii) 

(3). 
iii) ln PRrt-A of the question paper, there are multiple choice questions in

which select the correct alternative and then by a blue or black ball

point pen, fill completely in the circle in OMR Answer Sheet. Do not ,.

erase, cut or use whitener on the OMR Answer Sheet after answering.

iv) 1 mark is allotted for each question in the multiple choice question ol

Part-A. 

v) Part-8 has descriptive questions.
vi) The allotted marks are given in each question.
vii) All the questions of Sub�Sections of Part-Bare to be attempted all ate.

time. Start each Sub-Section from a �ew page. 

viii) All the questions are compulsory. 

l'§Vg - at 

PART-A 

( isl§faq;t-tf\4 1fR ) 

( Multiple Choice Type Questions ) 

�. - (1) 

Sub-Section - ( 1) 

fcf>m � cflT 3iqc'1(Yf � s:m � !.lf<1fCs414 3lNTm, • � � � � � 

�ti ��wm;���? 

(A) � CJ,lchft W-lT qsfic'll � � �

. (B) ctsfic'll � 'Cf{

(C) ctsfic'll � � lR

(D) G1tur � � ml' 1i@l 4ili:fifl cf;�
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l. 

2. 

s�Ms:.- ' 

ree
l

3 . rtu
a.l. e 

rtd Vl 

. . or is foll 
The image of an object fo

rm
ed by a concave rnirr d ? 

. situate 
and larger than object. Where should the obJect be

(A) Between principal focus and centre of curvature

(BJ On the centre of curvature 
(C) Away from the centre of curvature 1 

(D) Between the pole of mirror and principal focus
� 

fcfim �liii;cf>)� 11 "CTTQ" � � Cf>1" � � � � ll -n �-m � 

�? 

(A) 50 WIT lhlcfi.fi ¢ � � � "ffi{

(B} 50 wfr Cfilcfi« � � � � $

(C) 5 WTI" lh1cfie � � � "3m'f �

(D) 5 *'ft lf>lcf,f! ¢ � � � ffi1 1 

2. Which type of lens would you like to read small letters found in a

dictionary ? 

(A) A convex lens of focal length 50 cm 

(B) A �oncave lens of focal length 50 cm

(C} A convex Ie11:s of focal length 5 cm 

(D) A concave lens of focal length 5 cm 1 

3. � 10Mlll qqur cf?.T1" rcfi"ffl � � � m ct)" lf.lcfiff � � -15 *'ft t I

� om ffif �: f

.(A} -��

(C) ��omm,� 1 

3. The focal lengths of a spherical mirror and a ,thin spherical lens are

-15 cm each. The mirror and lens are possibly

(A) both concave

(8) both convex

(C) mirror concave and lens convex

(D) mirror convex and lens concave
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. ._ ;p, r.Fll ·?.
BJ) -'rrt,�1r.J ,�.frl ,. • 824( 

C--'\ 1.fffl e.fi1 !Al' 
. 

� � *" f.;JTI ,:ffll ff{ ,�1(11 , 

rli"r�l4. (B) 
(A} cfiTf.Jm 7.frz 'f�if . (D) '· . . ,·s formed, • ..

. t..)1t:Cl • (C) rr.:d\ , , . of Hfl ()l,J 1m·11
which the image 

4 The part of human eye, on
1 ... 

(13) ns
(A) Cornea

R linr.i (0) c 
. . . ', (C) Pupil

,. kr-rl'r f,.r1.f{ r:rf-rq�..f if � � ir.�

5. ---4 eZITTl � i, l"'P<.11 ' • • . .•� � � � �, MM!•� om . . � ' , r:rr11.tf;1:f r,p.u JR t:r � 

5. 

6. 

6. 

7. 

7. 

. . . nr- � 'jf@ � 1 �011*,1:1 �m 
q � � 'QT� � �'! "IC'1 lq'l'I 

'3i"Slf3nciil,3r,fffii��? 
(B) 2 : 1(A) 1 : 2

I 
(C) 1 · 4 (D} 4 : 1 . . . . 

. . , d diameter are JOLned
Two conducting wires of same matenal, length an 

. . . . . . . . 
ll l What will be the ratioin series in an electric circuit and then 1n para e · 

of heats generated in series and in parallel combination ? 

(A) 1 : 2 (B} 2: 1 

(C) 1 : 4 (D) 4: 1 1 

� 4R4eJ cf> � 4R4eJ it � � cfiT lfR 

(A) � cfi1=I' � ,if@T t (B) n �· ,. . .
q {qi fk1 � mffi' t

(CJ ifFr���t (D) f1 <cH qf< cl ffo1 irffi t
The value of electric current in a circuit at the time of short circuit
(A) becomes very low (8) does not change
(CJ increases very large (D) changes continuously
� � � m cfft "1m qiT m i

(A) � > 
' " (8) ll�.:.tH14il<

(C) �
'

(D) �
The arrangement to produce the electric current is called
(A) Generator

(C) Ammeter

01000/26 

(B) Galvanometer

(D) Motor
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'31Nl'T- (2) 
Sub-Section - (2) 

8. 
QRA..ft t-

(A) .tmj ·� (B) 

(C) � (D) fi::r� �
8. Antimony is

(A) metal (B) non-metal

(C) metalloid (D) alloy

9. m � q:;y :i:1tt1qRct, Wt

(A) PbN03 (B) Pb(N0
3
h 1 

(C) Pb(N0
2)2 (D) PbO

9. Chemical formula of lead nitrate is

(A) PbN0
3 (B) Pb(N0

3
b

(C) Pb(N0
2b . (D) PbO

10. f:i1;-1f{1f@a -il � '3ifi<141 �1��1ct>1J1 t-

(A) C2H6 (B) C2H4

(C) CH4 (D) C3Hs

1 

10. An unsaturated hydrocarbon in the following is

(A) C2H6 (B) C2H4

(C) CH 4 (D) C3Hs 1 

11. mq.:iM -q · f ¢fi<.m·qcb � t

(A) -CHO (B) >C·=O

(C) -OH (D) -COOH

11. The functional group in propanal is

(A) -CHO (B) >C=O

(C) -OH (D) -COOH

)) 000/26 1 l'ii"n 
,..J"', 

Previous Pathshala



S24(EJ) 6 

12. Qmfcch � � -mto<{otftol{omo ;rp:f t

(A) · Qfllfccfi �

(C) ��-11�ch �

12. IUPAC name of acetic acid is
(A) acetic acid
(C) methanoic acid

(B) ��

(D) �q.t)�cfi w:R

(B) ethanoic acid

(D) propanoic acid

13. � (1('c{' � ¾l{i�,s q;y � MC½ � I � 3ilcfftl�-s "cfiT � 't

(A) M0
2 (8) MO

13. Formula of chloride of an element is MC½. Formula of its oxide is

(A) M02 {8} MO

(C). M203 (D) M20 

� - (3) 
Sub-Section - (3) 

14. �"q;lfflmffit

(A} � (8) 5,1.,jFf"i

(C) ,:kB"1'1 {D) � 

14. Function of kidneys is

(A) Respiration (B) Reproduction

(C) Excretion (D) Digestion

15. qfTilll � ct,fMc!li Fc:tcfiftla mt

(A) q1Gl .. 1f ll" (8) �-q

� ll!lf'-hMJ-1 ll- (D) B�l:R
(C) 

15. d n leaf develop in
Bu so 

{B) Potato 
(A) Mint

(D) All of these
Bryophyllµrn

(C) 
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). 

7. 

7. 

.8. 

18. 

19. 

19. 

(A) �. -if. 1iffi

(C) WR � ilosM

Father of Genetics is 

(A) H.J. Muller

(C) Gregor Johann Mendel

�DNA� �-q�mf 

(A) qq1�:s � sm

(C) 'fil�cti)f�f�q; � mt 

7 

(B) 

(D) 

(B) 

(D) 

Two strands of DNA are connected by 

{A) Peptide bonds (B) 

(C) Glycosidic bonds (D) 

1:£¥<"'1'1 filU 11-if+1 � t 

(A) �-q (B) 

(C) fcte1i4gl � (D) 

Charles Darwin 

J. D. Watson

w-fi�-ifl � m

61��'11'1 � ffiT 

Covalent bonds 

Hydrogen bonds 

�m-q-

cf;ii{d< -q-

Reproduction by means of budding occurs in 

(A) Hydra (B) Earthworm

(C) Cockroach (D) Pigeon

ilos("1 cJ;T �t�fi,q; � � 

(A) lftol� (B) '3m:J�

(C) � (D) 'l./$�fi

Experimental plant of Mendel was 

(A) Sweet pea (8} Garden pea 

(C) Mustard (D) Hibiscus
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824(EJ) 8 

20. fil:;; 1l � �-m � 1lRcf -q t:{TGT � rf;f cfiT � -;:im t ?

20. 

1. 

(A) 3°tsl�14 (B) �

(C) �ffecttfuq,t (0) f,giqc:11�..ft

. · 
ductive system�

·nTL! art of female repro 
. vv n:1ch one of the following is not a P 

humans? 

(A) Ovary

(C) Vas deferens

(B) Uterus

(D) Oviduct

l§q' - ii 

PART-B 

( c1oi.:tl�cfi � ) 

( DesctiJ!tiye Questions , 

� - (1) 

Sub-Section - (1) 

fcRuT 3lms q;f ;aq4)11 ffi � � oo � ·s:ifaf�14 qft- � � � f�f©� : 
2 + 2

(a) � � � l{,)cfiB cfi �

{b) 'qq � q,)cfif! cfi � I 
1. Using ray diagram, write the position and nature of the image formed by

2. 

2. 

a concave mirror : 2 + 2 
{a) Between centre of curvature and focus 

(b) Between pole and focus.

S·OWTI c1killt cift �q«j; 30-wfr�����c),� 20� �
1:R nit 'tm t'1 sifafatkil cf>1' �. � � 3Tfcf)R mo- �lf�q I 4 
An object of length 5·0 cm is placed in front of a mirror of radius of
curvature 30 cm at a distance of 20 cm. Determine the position, nature
and size of the image. 

4 
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3. 

3. 

4. 

9 

fcf>-m 4 31Tll �. -it "Slfu t1��:s 100 � � � ITT <ITT i 1 � � ni�i q{

� mo c:f>lMQ 1
. erated in a resistance of 4 n. Calculate

The heat of 100 J per sec 1s gen 

· d·ff th ends of the resistance: 4 
the potential 1uerence between e 

-� �� ff c..-.A P.:t= � =-r rn f��ia � cfil4fc:l!¼ � cblf"iQ I 
-iflll O �1(<9 <S i:lcfH ICfl'til 1'1�\I '111'1'1 "fll . !.'' 

Wl�'cf,T��i? 1+2+2+1 

� 

fuw, 1'.lITT qiT -11qif<:iia � &lf4Q 1 � ffl�ia c;v.rr q;14fc1f¼ � <illf-iiQ , �

l:frc{ ll � � cfiT cflIT � t' ? 1 + 2 + 2 + 1 

4. Explain the fundamental principle and working of an electric generator

by drawing labelled diagram. What is the function of brushes in it ?
https://www.upboardonline.co1n 1 + 2 + 2 + 1 

OR 

Draw a labelled diagram of an electric motor. Explain clearly its principle 
and working. What is the importance of split rings in electric motor ?

1+2+2+1 

�-(2) 
Sub-Section -(2) 

s. f.:i1-1R-ifo1ct �r,cf>'i *" �<tj-11 W f<.1f@Q : l+l+l+l 
(a) 11\Q-1('1

(b) Sfl41�'1

{c) q.-l;n..J-3

(d) ·«{l-11-i-2 I
S. Write down the structural formulae of th � ll e 10 owing compounds :

{a) Methanal 
1 + 1 + 1 + 1

(b) Propyne
(c) Pentanone-3
(d) Butanone-2.

01000;25
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6. 

6. 

7. 

7. 

10 

� � � tr<'41o_t sfi4ic6 � � � f12, 17, 18, 20
{a) ��� 

(b) � �l{O� ll � � qft � � "FMT .me@� ;q<1l� I
A� . . . nuc numbers of some elements are given below 

12, 17, 18, 20
Write the 

(a) Names of the elements

2 +� 

(b} G 1 ts in the periodicroup number and Periodic number of the e emen 

table. 

· 

�i,:rTT 

2 + 2 

f.:tAf('"ff@ct �� ll � ct � �c{clci {ll-il4f-1q; l-i4(qi{UI f�f&lt 
1+1+1+1+1+1

(a) mf�4q ,(i�c: + �Rt14 #11<1�:s � 4Rll'4 :a�c. + ............ · 

(b) &l{cfi:t1 311¾1�,s o;ur, &j{qi{l +. ······· ... ..

(c) � + :a�cfi � � � :a�l + ........... . 

(d) m + q;m :ac,q;c. � ............ + � 

(e) �W!(lll&I cfili4l�l ;: ��lll4 3ili:ffil�-s + ........... . 

(� � + f,a("q{ � � � '11��(. + ........... .

f1Afe1fl4c1 1lt R,ll,IUTI fC"lf@4 :

(a) �l��lcfil�.=t cf>1 � �

(bJ cfi1�f�cfi �n,cfi it �rri�1q1 � 

(c) (;l��l\Jf.flcfi{UI I

2 + 2 + 2

Complete and balance the following equations l+l+l+l+l+l 

(a) Sodium sulphate + Barium chloride � Barium sulphate + ......... . 

(b) M . ·d Heat M ercunc oxi e ) ercury + ............. . 

(c) 

(d) 

Zinc + Sulphuric acid � Zinc sulphate + ........... .. 

Iron + Copper sulphate � .............. + Copper
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8. 

11 

(e) 

(f) 

. 
· Hfflt 

. • Calcium oxide +Calcium carbonate · occomposiuon · · · · · · · ....... . 

. t + Zinc + Silver nitrate � Zinc nitra e · · · · .. · · .. · · .. ·

OR 

Write short notes on the following: 

(a} Combustion reaction of Hydrocarbon 

(b} Substitution reaction in organic compounds 

(c) Hydrogenation.

�-(3) 

Sub-Section -(3) 

(a) &{\cfm � �HlcfB1 � � cfili � � f{,,\f@(t l

(b) (vlf�cfil � � � � � � f(,lf@tt I

(c) q;1f�cfi � � � f ?

{dl ���mt?

s24(EJ) 

2+2+2 

l 

1 

8. (a) Write any two differences between aerobic and anaerobic

9. 

. respiration. 

(b) Write any two differences between lymph and blood.

(c} What is vegetative reproduction ?

{d) What is the function of heart ? 

f("lf@� l

1+1 
2 2 

1+1 
2 2 

1 

l 

l+l+l+l 

9. What is chemosynthesis ? Write the names of any three bacteria and

their functions taking part in it. 

10. What are the functions of digestive enzymes ?

0\000/26 
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11. fr1:..lfo1f&a � ffl ll �1'1$11��

(a) s,�-1<:ltq

(b) �&ttchc!tq I

� 

� ll f-1�f.1�4{H9 � � qf<cld.:il cfiT qUR chtl"1({ I 

11. Briefly explain the following :

(a) Darwinism

(b) Lamarckism.

OR 

Describe the post-fertilization changes in a flower. 

824(EJ) - 4,90,000 
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